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“Cinderella is a threat to children” (paragraph 2) 
1p 16 In which paragraph does Viv Regan explain why she thinks this is 

nonsense? 
A paragraph 2 
B paragraph 3 
C paragraph 4 
D paragraph 5 
 

1p 17 Wie wordt door Viv Regan als voorbeeld genoemd van “the ugly 
stepsisters of the commentariat” (alinea 2)? 
Schrijf de naam van deze persoon op. 
 

2p 18 Geef van elke van de volgende beweringen aan of deze wel of niet in 
overeenstemming is met de mening van Viv Regan. 
1 Lily James is ongeschikt om de hoofdrol te spelen in de film 

Cinderella. 
2 De film Cinderella zou het politieke bewustzijn van jonge vrouwen 

moeten stimuleren. 
3 De makers van de film Cinderella overschatten het belang en de 

voorbeeldfunctie van de film. 
4 De film Frozen heeft bewezen hoe groot de invloed van een film met 

een sterke vrouwelijke hoofdpersoon is. 
Noteer “wel” of “niet” achter elk nummer op het antwoordblad. 
 
 

Tekst 7  How to beat the bugs 

 
Een bedrijf dat zijn anti-insectenmiddel wil laten registreren in de VS moet 
informatie geven over verschillende aspecten. 

1p 19 Geef van de volgende aspecten aan of ze wel of niet genoemd worden in 
alinea 1. 
1 de gezondheidsrisico’s van het middel 
2 de prijs van het middel 
Noteer “wel” of “niet” achter elk nummer op het antwoordblad. 
 

1p 20 Which of the following fits the gap in paragraph 2? 
A a further check 
B an escape clause 
C an extra certificate 
D a safer option 
 

1p 21 Which of the following fits the gap in paragraph 3? 
A Alarming flaws 
B Safety concerns 
C Similar patterns 
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1p 22 How does paragraph 4 relate to paragraph 3? 
A It criticises the role the EPA has played in promoting the repellents 

discussed in paragraph 3. 
B It elaborates on the problems reported about the repellents discussed 

in paragraph 3. 
C It gives further information about the potency of the repellents 

discussed in paragraph 3. 
D It makes clear why the repellents discussed in paragraph 3 tend to 

cause problems. 
E It mentions repellents to be preferred over the ones discussed in 

paragraph 3. 
 

1p 23 Which of the following fits the gap in paragraph 5? 
A chemicals are more effective 
B experiments can lead to innovations 
C natural doesn’t always equal benign 
D the industry cannot be trusted 
 

1p 24 Which of the following fits the gap in paragraph 6? 
A Likewise 
B Of course 
C Therefore 
 

1p 25 How can the tone the writer uses in paragraph 6 be characterised? 
A as arrogant and indifferent 
B as emotional and undecisive 
C as impartial and open-minded 
D as mocking and resolute 
 

1p 26 Citeer de eerste twee woorden van de zin uit alinea 4, 5 of 6 die wordt 
uitgebeeld door de illustratie.  
 
 

Tekst 8  It is all in the mind 

 
1p 27 Which of the following is in line with paragraph 1? 

A In politics, medical evidence tends to be overlooked.  
B Medical judgements can be politically motivated. 
C Medical proof may lead to the ending of a politician’s career. 
D Politicians’ medical conditions should be made public. 
 


